Worksheet Maths 4™ ESO

SURDS

Calculate and simplify:

a) 7+/2 +3+/8 - /80 + 4420 -
b) 2/45 —3+/5 + 4420 =

c) 24/8 +572 - 74/18 -/50 =
d) V4 V1243 =

e) Y2° -2 .3/2°

f) 3W72 2249 =

2 I3
9){5-3@:
) J315 5918 =
i) v3f =
§) VB =
k) (L-v2f =
) W2 +3)v2 -3)=
m) V42 =
n) \/1+\/6+\/5+\/E =

0) (4@—6\/§+8\/7_2)+x/§=




Worksheet Maths 4™ ESO

SOLUTION

a) 7+/2 +3+/8 /80 + 4420 = 742 +3y2% —/2* 5 +422 .5 =

=72 +64J2 - 4.5 +8J5 =13J2 + 45

b) 2v/45 — 35 + 4420 = 2132 -5 -35 + 4y2% -5 = 6,/5 - 3.5 + 85 =115
¢) 248 + 572 — 718 60 = 2/2° +52°32 —7/2.3% —/2.5? =

=42 +3042 -2142 -5J2 =82

d) V4 12 .43=+2% V22 .3.y3=122.22.33 =2.2.3=12

e) 42° 2 325 =20 %26 .} = 2% = 22%2" = 442"

f) 3J72 + 2f_3”2j_232_323f 32

h) %%Wﬁ:%mﬁﬁ:gﬂ:gsm:ﬁ/ﬁ

i) (2v3f =22 V32 =4.3=12

i) @5) =22 .3/5° =8.5=40

K (-v2f =17 -2v2+(V2f =1-2J2+2=3-2/2

) (V2 +3)v2 -+3)=(V2f - (v3f =2-3=-1

m Wi2° =42 =42

) 1+ 6+ V516 = 146435+ 4 = 146470 =\1+6+3 =
=V1+9 =143 =2

0) (4418 — 618 +872)+ V2 = (42 37 —6/2° +8Y2° 37 )+ 2 =
=(4.32-6-2J2+8-2-3J2)+2 = (122 - 1242 + 4842 )+ /2 = 48




